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PRACTICE

Find the value of 4 3

Find the value of 2 + 3

Find the value of

Find the value of 5+

+8+9+ 10+ 11.
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G+2=3 6+2=3
I8+ 6=13 18+ 6=3
I8 =3 =54 I8 =3 =54
I'he next term is 54 S0 hgng nep theo la 54,
220 20y 10 Bl b\ )

(dy 44, 22, 20, 10, 8, X YL |
I'he ubove number pattern uses two arthmetic skills: divisionand I : |
subtraction, The first term is divided by 2 and the second term 1 Divy s0 trén su dyung hai ky ndng tinh todn; phép chia va pheép tnr.
subtracted by 2 ] 50 hang thir nhiat chia cho 2 vi 80 hang thir hai i di 2. = “

d4+2=20 22-2=20 M +2=22 22-2=20
30+ 2= 10 0-2-8 2042=10 10-2=8
T3+2=4 4-2=2 B+2=4 4-2=2

Ihe next two terms are 4 and 2 respectively Hai 56 hang |1|}p theo lan luot 16 4 va 2.
e ne / B f 5 Y.
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13+8=21
M+13=34 2] o=
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Ihe two terms are 21 and 34 respectively. Hai 56 hang lan lugt i 21 vi 34,
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Sabrina went up 5 floors to her grandmother’s house to collect a prise ai
She went down 8 floors to pass the prune cake 1o her cousin. She thense
up another 2 floors to look for a friend who stayed on the 10 floorss
homework together. On what floor was Sabrina staying?
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Complete each number pattemn,
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Irealysis Ihe difference between any two consecutive terms in the above

number pattern is- 3, so the next tenn must be 13 +3 =14,

B 6 12 200 Y.,
Analysis:  This is more interesting than the number pattern shown in (a). The

second term is 4 more than the first one. Thereafter, the difference

between any two consecutive lerms increases by 2.

24+ 4=6
G+4+2=12
12+4+2+2=20
The next term is, therefore, 20 + 4+ 2+ 2+2=30.
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